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| Grey line: exponential fit Peak flux: 1.046+/- 0.489 c/s/cm? ]
- Black line: power law + gauss fit Fluence : 17:39+/- 9.80 c/cm? —
B Dashed line: power law Duration 80.894/- 5151 s ]
L Best fit model:|2. ]
L est fluence madel;| 1 7
. est duration .1 m
- AL M kol L il
L } ”HJ ﬁ [l T | ‘_ML I I ‘ ‘\ \ M | H ‘ |
T = ‘ T T ‘ T T n ‘ ‘ ‘ |
: \U M | | W i H\H AT
; Exponential fit é
= Expon.time: 40.12+/- 34.50 s (chi*-red= 1.28) =
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; Power law fit é
E Power law index: -0.861+/- 0.400 (chi*-red= 1.28) =
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—  Power law fit plus Gaussian (st.dev.= 55.83+/-21.20 s, fracgs= 0.54+/- 0.24) =
- Power law index: -10.209+/- 9.723 (chi*-red= 1.28) 7
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